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Test Date 14/12/2023
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Subject 58 Law

Section : General Paper

Compre

hension:

The following table shows the percentage of marks obtained by six different students in six different
subjects A-F of MCA programme in a University, alongwith the maximum marks in each subject

(shown in brackets). Based on the data in the table, answer the questions that follow.

Student-wise Percentage of Marks in Six Subjects

Student Subjects (Maximum Marks)
A (150) | B (100) | C (150) | D (125) | E(75) | F(50)
Anil 66% 75% 88% 56% 56% 90%
Arman | 82% 76% 84% 96% 92% 88%
Arpit 76% 66% 78% 88% 2% 70%
Gaurav | 90% 88% 96% 76% 84% 86%
Gurjit 64% 70% 68% 72% 68% 74%
Priya 48% 56% 50% 64% 64% 58%

SubQuestion No : 1

Q.1

(1)
2
(3)
(4)
Options 1. 1
2.2
3.3
4.4

369
463
558
496

How many marks did Anil get in all the six subjects together ?

Question Type :
: 87827039978
Option 11D :

Question ID

Option 2 ID

Option 4 ID

Chosen Option

MmcaQ

878270157041

: 878270157042
Option 31D :

878270157043

1 878270157044
Status :
03

Answered




Comprehension:

The following table shows the percentage of marks obtained by six different students in six different
subjects A-F of MCA programme in a University, alongwith the maximum marks in each subject
(shown in brackets). Based on the data in the table, answer the questions that follow.

Student-wise Percentage of Marks in Six Subjects

Student Subjects (Maximum Marks)
A (150) | B (100) | C (150) | D (125) | E(75) | F (50)
Anil 66% 75% 88% 56% 56% 90%
Arman [ 82% 76% 84% 96% 92% 88%
Arpit | 76% 66% 78% 88% 72% 70%
Gaurav | 90% 88% 96 % 76% 84% 86%
Gurjit 64% 70% 68% 72% 68% 74%
Priya 48% 56% 50% 64% 64% 58%

SubQuestion No : 2

Q.2 If M and N represent the average marks obtained by all the six students together in subjects C and
E, respectively, then (M, N) = i
1y (112,.565)
(2) (114, 55)
(3) (115, 56)
(4) (116, 54.5)
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status
Chosen Option :

McaQ
87827039980
878270157049
878270157050
878270157051
878270157052

: Answered

3




Comprehension:

The following table shows the percentage of marks obtained by six different students in six different

subjects A-F of MCA programme in a University, alongwith the maximum marks in each subject

(shown in brackets). Based on the data in the table, answer the questions that follow.
Student-wise Percentage of Marks in Six Subjects

Subjects (Maximum Marks)
A (150) | B (100) | C (150) | D (125) | E(75) | F (50)
Anil 66% 75% 88% 56% 56% 90%
Arman [ 82% 76% 84% 96% 92% 88%
Arpit | 76% 66% 78% 88% 72% 70%
Gaurav | 90% 88% 96 % 76% 84% 86%
Gurjit 64% 70% 68% 72% 68% 74%
Priya 48% 56% 50% 64% 64% 58%

Student

SubQuestion No : 3

Q3 Marks obtained by Gauravare % more than that of Gurjit in all the six subjects
together. (rounded off to two digits after decimal)
Ay 27.35
2) 24.52
(3) 29.45
(4) 28.15
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
87827039981
878270157053
878270157054
878270157055
878270157056
Answered

3




Comprehension:

The following table shows the percentage of marks obtained by six different students in six different
subjects A-F of MCA programme in a University, alongwith the maximum marks in each subject

(shown in brackets). Based on the data in the table, answer the questions that follow.

Student-wise Percentage of Marks in Six Subjects

Student Subjects (Maximum Marks)
A (150) | B (100) | C (150) | D (125) | E(75) | F (50)
Anil 66% 75% 88% 56% 56% 90%
Arman [ 82% 76% 84% 96% 92% 88%
Arpit | 76% 66% 78% 88% 72% 70%
Gaurav | 90% 88% 96 % 76% 84% 86%
Gurjit 64% 70% 68% 72% 68% 74%
Priya 48% 56% 50% 64% 64% 58%

SubQuestion No : 4

Q.4 What is the different between the average marks obtained in subjects A and E by all the six students

together ?

05]
2
(3)
4)
Options 1. 1

2.2

3.3

4.4

48
50
2
54

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
87827039982
878270157057
878270157058
878270157059
878270157060
Answered

3




Comprehension:

The following table shows the percentage of marks obtained by six different students in six different
subjects A-F of MCA programme in a University, alongwith the maximum marks in each subject

(shown in brackets). Based on the data in the table, answer the questions that follow.

Student-wise Percentage of Marks in Six Subjects

Student

Subjects (Maximum Marks)

A (150) | B (100) | C(150) | D (125) | E (75) | F(50)
Anil | 66% | 75% | 88% | 56% | 56% | 90%
Arman | 82% | 76% | 84% | 96% | 92% | 88%
Arpit | 76% | 66% | 78% | 88% | 72% | 70%
Gaurav| 90% | 88% | 96% | 76% | 84% | B86%
Gurjit | 64% | 70% | 68% | 72% | 68% | 74%
Priya | 48% | 56% | 50% | 64% | 64% | 58%

SubQuestion No : 5

Q.5 Total marks obtained in all the six subjects together is more than 490 by exactly students.
1) two
(2) three
(3) four
(4) five
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039979
Option 1 ID : 878270157045
Option 2 ID : 878270157046
Option 3 ID : 878270157047
Option 4 ID : 878270157048
Status : Answered
Chosen Option : 3
Qe Which of the following media is often described as ‘one day best seller” ?
(1) Radio
(2) Internet
(3) Novel
(4) Newspaper
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039994
Option 1 ID : 878270157105
Option 2 ID : 878270157106
Option 3 ID : 878270157107
Option 4 ID : 878270157108
Status : Answered
Chosen Option : 3




Q.7
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040016
Option 11D : 878270157193
Option 2 ID : 878270157194
Option 3 ID : 878270157195
Option 4 ID : 878270157196
Status : Answered
Chosen Option : 1
Q.8  Given below are two statements :
Statement I:  Edmodo (online tool) helps teachers to stay in touch with parents, share updates
and discuss student progress.
Statement I1:  Duolingo is a online language learning platform.
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039984
Option 1 ID : 878270157065
Option 2 ID : 878270157066
Option 3 ID : 878270157067
Option 4 ID : 878270157068
Status : Answered
Chosen Option : 1




Q.9

Arrange the following in correct sequence according to APA style of referencing :

(A) Tite of the research article

(B) Year of publication
(C) Name of journal
(D) Name of anthor

Choose the correct answer from the options given below :

1 (A), (B), (O (D)
@ (@A) ©), D), @B
(3) (D) (A) (O, (B)
4) (D), (B), (A), (©)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039990
Option 1 ID : 878270157089
Option 2 ID : 878270157090
Option 3 ID : 878270157091
Option 4 ID : 878270157092
Status : Answered
Chosen Option : 4
Q10 A’ sells an article to ‘B at 20% profit. ‘B sells it to ‘C’ at 15% loss. If ‘C’ pays Z 510 for it, then * A’
purchased it at :
(1) T 480
2) %490
(3) 500
(4) 520
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040002
Option 1 ID : 878270157137
Option 2 ID : 878270157138
Option 3 ID : 878270157139
Option 4 ID : 878270157140
Status : Answered
Chosen Option : 3
Q11 = 3080 is divided among A,B and C so that half of A’s part, one third of B's part and one sixth of
C's part are equal. Then B’s part is
(1) T840
(2) T 960
(3) ¥ 1080
4 T720
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040000
Option 1 ID : 878270157129
Option 2 ID : 878270157130
Option 3 ID : 878270157131
Option 4 ID : 878270157132
Status : Answered
Chosen Option : 3




Q.12 Given below are two statements :

Statement I : Increasingly, photovoltaic panels are being used to supplement electrical energy

from the power grid.

Statement I1:  The compatibility of photovoltaic panels with power grid is also because it produces

Direct Current (DC).
In the light of the above statements, choose the most appropriate answer from the options given
below :
Both Statement I and Statement II are correct
2) Both Statement I and Statement II are incorrect
Statement I is correct but Statement II is incorrect
4)  Statement I is incorrect but Statement 11 is correct

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040014
Option 11D : 878270157185
Option 2 ID : 878270157186
Option 3 ID : 878270157187
Option 4 ID : 878270157188
Status : Answered
Chosen Option : 1
Q13 Given below are two statements :
Statement 1 : Rising nutrient levels in a lake change the numbers and types of biota present
there.
Statement Il :  Eutrophic lakes normally have clear water and contain little biomass.
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 1II is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040015
Option 11D : 878270157189
Option 2 ID : 878270157190
Option 3 ID : 878270157191
Option 4 ID : 878270157192
Status : Answered
Chosen Option : 2




Q14 wWhichof the following correctly represents the meaning of the abbreviation “ante” used in academic

writing ?
(1) anonymous
(2) before
(3) after
(4) and others
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039992
Option 1 ID : 878270157097
Option 2 ID : 878270157098
Option 3 ID : 878270157099
Option 4 ID : 878270157100
Status : Answered
Chosen Option : 4
Q15 Given below are two statements in the context of digital technologies for entertainment :
Statement I:  In virtual reality, images generated from a computer are projected onto real life
objects or surroundings.
Statement I :  In augmented reality, a simulated environment is created and the physical world
is completely shut out.
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both Statement I and Statement Il are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040010
Option 1 ID : 878270157169
Option 2 ID : 878270157170
Option 3 ID : 878270157171
Option 4 ID : 878270157172
Status : Answered
Chosen Option : 1




Q.16

(A) Mobile Telephone

(B)
(©)

Android Phone

Communication device

(D) Telephone

Choose the correct answer from the options given below :

Arrange the following terms in order of increasing abstractness :

1 (B) (A), (D), (©
(2 (B (D), (A) ©
@)  (©. (D), (A), (B)
4) (©), (A) (B) (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040003
Option 1 ID : 878270157141
Option 2 ID : 878270157142
Option 3 ID : 878270157143
Option 4 ID : 878270157144
Status : Answered
Chosen Option : 3
Q.17 : : - :
What will be the values of P and in the following number series ?
2,0.6,6,12,24. P, 0,
(1) 48, 96
() 20, 60
(@) 12,120
(4) 48, 50
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040001
Option 1 ID : 878270157133
Option 2 ID : 878270157134
Option 3 ID : 878270157135
Option 4 ID : 878270157136
Status : Answered
Chosen Option : 3




Q.18

The policy of privatisation of higher education began with the introduction of :

(1) Fourth five year plan
(2) Sixth five year plan
(3)  Eighth five year plan
(4) Tenth five year plan
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040018
Option 1 1D : 878270157201
Option 2 ID : 878270157202
Option 3 ID : 878270157203
Option 4 ID : 878270157204
Status : Answered
Chosen Option : 3
Q.19 Which of the following acronyms is incorrectly matched with its expanded form ?
(1) IMPRINT - Impacting Research, INnovation and Technology
(2) BHIM - BHarat Interface for Money
(3) UMANG - Unified Mobile Application for New age Generation
(4) PayTM - Pay Through Mobile
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040009
Option 1 ID : 878270157165
Option 2 ID : 878270157166
Option 3 ID : 878270157167
Option 4 ID : 878270157168
Status : Answered
Chosen Option : 2




Q.20
(A)
(B)
(©)
(D)
(E)

In air pollution, oxides of nitrogen (NOx) include :
Nitric oxide

Nitrous oxide

Nitrogen dioxide

Di-nitrogen trioxide

Di-nitrogen penta oxide

Choose the correct answer from the options given below :

(1) (A), (B) and (O) OILly
(2) (A)and (C) Only
(3) (B), (C) and (D) Only
(4) (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040013
Option 1 ID : 878270157181
Option 2 ID : 878270157182
Option 3 ID : 878270157183
Option 4 ID : 878270157184
Status : Answered
Chosen Option : 1
Q.21 - 2 - :
In self-directed learning, metacognitive knowledge includes :
(A) Contextual knowledge
(B) Factual knowledge
(C) Procedural knowledge
(D) Technological knowledge
(E) Practical knowledge
Choose the correct answer from the options given below :
(1) (A), (D) and (E) Only
(2) (C) and (D) Only
(3) (A), (B) and (C) Only
(4) (B) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039985
Option 1 ID : 878270157069
Option 2 ID : 878270157070
Option 3 ID : 878270157071
Option 4 ID : 878270157072
Status : Answered
Chosen Option : 2




Q22 \jatch List - T with List - IL

List - I List - 1I
(Hazard related term) (Description)
(A) Risk ()  Actions to mitigate losses
(B) Exposure (I)  Frequency of events causing losses
(C) Vulnerability (IIT) Magnitude of population and structure at risk
(D) Response (IV) Degree of preparedness

Choose the correct answer from the options given below :

(1) (M-I, (B)-(D), (C)-(V), (D)-([)
(2 (A, (B)(ID), (©)-(IV), (D)-(I)
(3)  (A)-(ID), (B)-(11D), (C)-(I), (D)-(IV)
(4) (A, (BYHID), (©)-(I), (D)-(IV)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040017
Option 1 ID : 878270157197
Option 2 ID : 878270157198
Option 3 ID : 878270157199
Option 4 ID : 878270157200
Status : Answered
Chosen Option : 1
Q.23 Tue jdea of a national education system in India could get fillip with the transfer of control of
education in 1921 to :
(1)  The British Viceroy
(2)  Indian ministers of provinces
(3) The Christian missionaries
(4) European elite
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040020
Option 1 ID : 878270157209
Option 2 ID : 878270157210
Option 3 ID : 878270157211
Option 4 ID : 878270157212
Status : Answered
Chosen Option : 3




Q.24 If you wish to test whether population mean is lower than some hypothesized value, you would
apply :
(1) one-tailed test

(2) two-tailed test
(3) half-tailed test
(4)  three-tailed test
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039991
Option 1 ID : 878270157093
Option 2 ID : 878270157094
Option 3 ID : 878270157095
Option 4 ID : 878270157096
Status : Answered
Chosen Option : 2
Q25 which of the following statements is logically equivalent to the statement “All beverages are
liquid” ?
(B All non-liquids are non-beverages.
(2) Some beverages are liquid.
(3)  Allliquids are beverages.
(4) Some liquids are beverages.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040006
Option 11D : 878270157153
Option 2 ID : 878270157154
Option 3 ID : 878270157155
Option 4 ID : 878270157156
Status : Answered
Chosen Option : 4
Q.26 \hich one of the following types of assessments would be most beneficial for assessing a student’s
ability to debate ?
(1) Formative Assessment
(2) Summative Assessment
(3) Ipsative Assessment
(4)  Performance Assessment
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039983
Option 11D : 878270157061
Option 2 ID : 878270157062
Option 3 ID : 878270157063
Option 4 ID : 878270157064
Status : Answered
Chosen Option : 3




(A)

(B)
©

m
@

Q27 When watching videos from a web site using streaming technology, which of the following will be
involved ?

DNS
FTP
1P

Choose the correct answer from the options given below :

(A) and (B) Only
(A) and (C) Only

(3) (B) and (C) Only
(4)  (A), (B) and (C)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040011
Option 11D : 878270157173
Option 2 ID : 878270157174
Option 3 ID : 878270157175
Option 4 ID : 878270157176
Status : Answered
Chosen Option : 2
Q28 which of the following approaches to the analysis of content is based on the study of signs ?
(1)  Semiotics
(2) Ethnography
(3) Content Analysis
(4) Quantitative Research
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039989
Option 1 ID : 878270157085
Option 2 ID : 878270157086
Option 3 ID : 878270157087
Option 4 ID : 878270157088
Status : Answered
Chosen Option : 1
Q29 the average of 10 numbers is 40 and the average of six of them is 28, then the average of the
remaining four numbers is :
(1 52
(2) 54
(3) 56
(4) 58
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039999
Option 11D : 878270157125
Option 2 ID : 878270157126
Option 3 ID : 878270157127
Option 4 ID : 878270157128
Status : Answered
Chosen Option : 3




Q.30

Identify the software used for detecting plagiarism :

Chosen Option :

(A) Mendley
(B) Turnitin
(C) Compiler
(D) Ilthenticate
Choose the correct answer from the options given below :
(1) (A)and (B) Only
(2) (A), (B) and (C) Only
(3) (A), (B) and (D) Only
(4) (B) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039988
Option 1 ID : 878270157081
Option 2 ID : 878270157082
Option 3 ID : 878270157083
Option 4 ID : 878270157084
Status : Answered
Chosen Option : 3
Q31 Match List - I with List - IL
List - I List - I1
(Question) (Answer)
(A) How many ones are there in the binary representation (I)
of the decimal number 512 ?
(B) If 1KiloByte = 2* bits, then what is the value of x ? (II)
(C) What hexadecimal value is obtained when the two (1)
hexadecimal digits A and B are added together ?
(D) What is the denary (base 10) value of the binary (IV)
number 00010100 ?
Choose the correct answer from the options given below :
(1) (A)-(m), (B)-(IV), (O)-(I), (D)-(II)
(@ (A1, B)-(1), (C)-1V), (D)-(I)
(3) (A1, (B)-(IL), (C)-(11), (D)-(IV)
(4) (A)-(Im), (B)-(D), (C-(IV), (D)-(I)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040012
Option 1 ID : 878270157177
Option 2 ID : 878270157178
Option 3 ID : 878270157179
Option 4 ID : 878270157180
Status : Answered

1




Q.32

The Greek rhetorical communication emphasised on the elements of :

(A) Delayed feedback
(B) Lower class language
(C) Logos
(D) Ethos
(E) Pathos
Choose the correct answer from the options given below :
(1) (A), (B) and (C) On_ly
(2) (B), (C) and (D) Only
(3) (A), (B) and (D) Only
(4] ), (D} and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039995
Option 1 ID : 878270157109
Option 2 ID : 878270157110
Option 3 ID : 878270157111
Option 4 ID : 878270157112
Status : Answered
Chosen Option : 4
Q33 “yyhen competent readers encounter new sentences in their native language, they read them
automatically” is an example of learning ?
(1) High-road transfer
(2) Near transfer
(3) Low-road transfer
(4)  Far transfer
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039987
Option 1 ID : 878270157077
Option 2 ID : 878270157078
Option 3 ID : 878270157079
Option 4 ID : 878270157080
Status : Answered
Chosen Option : 3




Q.34 which learning style involves the extent to which students approach learning materials in a way
that helps them understand the meaning of the materials :

(1) Surface styles

(2) Impulsive styles
(3) Deep styles
(4)  Reflective styles
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039986
Option 1 ID : 878270157073
Option 2 ID : 878270157074
Option 3 ID : 878270157075
Option 4 ID : 878270157076
Status : Answered
Chosen Option : 3
Q.35 Which of the following universities were established in the same year of 1916 ?
(A) Bombay University
(B) Banaras Hindu University
(C) Mysore University
(D) S.N.DT Women University
(E) Punjab University
Choose the correct answer from the options given below :
(1)  (A), (B) and (C) Only
(2 (B), () and (D) Only
(3 (O, (D) and (E) Only
(4) (A), (O) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040021
Option 1 ID : 878270157213
Option 2 ID : 878270157214
Option 3 ID : 878270157215
Option 4 ID : 878270157216
Status : Answered
Chosen Option : 3




a3 Which of the following statements are logically equivalent ?

(A) No metals are gases
(B) No gases are metals
(C) No metals are non-gases
(D) All metals are non-gases

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (A), (B) and (C) Only

()  (B), (C) and (D) Only

(4) (A) and (B) Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040004
Option 11D : 878270157145
Option 2 ID : 878270157146
Option 3 ID : 878270157147
Option 4 ID : 878270157148
Status : Answered
Chosen Option : 3
Q.37 Given below are two statements :
Statement I :  (0.5625),;, = (0.9),
Statement I1:  (0.3);, = (04BBB.....),
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 11 is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040008
Option 11D : 878270157161
Option 2 ID : 878270157162
Option 3 ID : 878270157163
Option 4 ID : 878270157164
Status : Answered
Chosen Option : 3




Q.38 Which of the following arguments is fallatious, as per classical Indian school of logic, because of
the middle term being too narrow ?

(1) Al things are non-eternal because they are knowable
(2)  The hill has fire because it is knowable
(3) Sound is eternal because it is audible
(4)  Wherever there is fire, there is smoke
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040007
Option 11D : 878270157157
Option 2 ID : 878270157158
Option 3 ID : 878270157159
Option 4 ID : 878270157160
Status : Answered
Chosen Option : 3
Q39 4 person travels 365 km in 8 hours in two stages. In the first part of the journey, he travels by bus
at the speed of 40 km/hour and in the second part of the journey, he travels by train at the speed
of 55 km/hour. How much distance did he travel by train ?
(1) 165 km
(2) 170 km
(3) 200 km
(4) 164 km
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039998
Option 11D : 878270157121
Option 2 ID : 878270157122
Option 3 ID : 878270157123
Option 4 ID : 878270157124
Status : Answered
Chosen Option : 3
Q.40 3 ; ; : : ; :
Science education in India was first started in Calcutta in 1817 at :
(1) Surendranath college
(2)  Ashutosh Mukherjee college
(3) St Xavier college
(4) Hindu college
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040019
Option 1 ID : 878270157205
Option 2 ID : 878270157206
Option 3 ID : 878270157207
Option 4 ID : 878270157208
Status : Answered
Chosen Option : 3




Q.41

“All phenomena in the universe are saturated with moral values. Therefore, we can conclude that
the universe for the Chinese is a moral universe”. Which informal fallacy is committed in the above
statement ?

(1) Slippery Slope

(2) Begging the Question

(3) Hasty Generalisation

(4) Fallacy of Composition
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827040005
Option 1 ID : 878270157149
Option 2 ID : 878270157150
Option 3 ID : 878270157151
Option 4 ID : 878270157152
Status : Answered
Chosen Option : 2

Q.42 Given below are two statements :

Statement I :  Through feedback, students can later critique their own communication
competence outside the classroom.

Statement I1: Motivational orientation towards communication should be identified by teachers
to better the communication competence of the students.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(

4)  Statement I is incorrect but Statement 11 is correct
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827039997
Option 11D : 878270157117
Option 2 ID : 878270157118
Option 3 ID : 878270157119
Option 4 ID : 878270157120
Status : Answered
Chosen Option : 1




Q.43 Given below are two statements :

Statement I : When passive defence systems are encouraged, a defensive response will resist
attitudinal change, if we apply the inoculation theory of communication.
A strong dose of argument will strengthen the receiver’s immune system.

In the light of the above statements, choose the most appropriate answer from the options given
below :

0
@

Statement 1I :

Both Statement I and Statement II are correct
Both Statement I and Statement I are incorrect

(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039996
Option 1 ID : 878270157113
Option 2 ID : 878270157114
Option 3 ID : 878270157115
Option 4 ID : 878270157116
Status : Answered
Chosen Option : 3
Q.44 Given below are two statements :
Statement I : If big corporate houses establish universities in India, quality professional training
and education can be given to students.
Statement II: [t is expected that universities and institutes established by corporate houses will
be world leaders in education.
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040022
Option 1 ID : 878270157217
Option 2 ID : 878270157218
Option 3 ID : 878270157219
Option 4 ID : 878270157220
Status : Answered
Chosen Option : 1




Q.45 % o ; :
All forms of communication are evaluated in relation to :

(1) Face to face communication

(2) Radio transmission
(3) Television entertainment
(4) Internet usage
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827039993
Option 1 ID : 878270157101
Option 2 ID : 878270157102
Option 3 ID : 878270157103
Option 4 ID : 878270157104
Status : Answered
Chosen Option : 1
Comprehension:
Read the following passage and answer the questions that follow :
Animals communicate with one another in many interesting ways. These may consist of signs,
gestures, looks, sounds, smells or even light produced by the body. Song and dance are the other
means of communication.
When faced with danger, animals warn others using signals such as mock charges, grimaces or
sound. They also call their mates, inform other members of the group about the source of food,
advertise territory and ‘teach’ the young the ways of the world. Baby birds call their parents for
help and attention and demand food.
Far from being a silent world, the ocean is a noisy place. Fishes, molluscs, sea lions, walruses,
whales and dolphins chatter away in the waters using a variety of sounds-whistles, squeaks, clicks
and groans which range from low pitch to ultrasonic sounds beyond the range of human hearing.
Whales and dolphins are sometimes called the “musicians of the sea’ as birds are of the sky.
SubQuestion No : 46
Q.46 5 : 7] F
Ultrasonic sounds’ are sounds which are :
(1) Liked by humans
(2) Audible to humans
(3) Disliked by humans
(4) Inaudible to humans
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827040027
Option 1 ID : 878270157233
Option 2 ID : 878270157234
Option 3 ID : 878270157235
Option 4 ID : 878270157236
Status : Answered
Chosen Option : 4




Comprehension:

Read the following passage and answer the questions that follow :

Animals communicate with one another in many interesting ways. These may consist of signs,
gestures, looks, sounds, smells or even light produced by the body. Song and dance are the other

means of communication,

When faced with danger, animals warn others using signals such as mock charges, grimaces or
sound. They also call their mates, inform other members of the group about the source of food,
advertise territory and “teach’ the young the ways of the world. Baby birds call their parents for

help and attention and demand food.

Far from being a silent world, the ocean is a noisy place. Fishes, molluscs, sea lions, walruses,
whales and dolphins chatter away in the waters using a variety of sounds-whistles, squeaks, clicks
and groans which range from low pitch to ultrasonic sounds beyond the range of human hearing,.
Whales and dolphins are sometimes called the “musicians of the sea’ as birds are of the sky.

SubQuestion No : 47

The musicians of the sk}r are :

Q.47
(1) Walruses
(2) Animals
(3) Dolphins
(4) Birds
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
87827040026
878270157229
878270157230
878270157231
878270157232
Answered

4




Comprehension:

Read the following passage and answer the questions that follow :

Animals communicate with one another in many interesting ways. These may consist of signs,
gestures, looks, sounds, smells or even light produced by the body. Song and dance are the other

means of communication,

When faced with danger, animals warn others using signals such as mock charges, grimaces or
sound. They also call their mates, inform other members of the group about the source of food,
advertise territory and “teach’ the young the ways of the world. Baby birds call their parents for

help and attention and demand food.

Far from being a silent world, the ocean is a noisy place. Fishes, molluscs, sea lions, walruses,
whales and dolphins chatter away in the waters using a variety of sounds-whistles, squeaks, clicks
and groans which range from low pitch to ultrasonic sounds beyond the range of human hearing,.
Whales and dolphins are sometimes called the “musicians of the sea’ as birds are of the sky.

SubQuestion No : 48

Q.48 What are the various ways in which animals communicate with one another ?

(A) Song and dance
(B) Speech
(C) Signs
(D) Sounds
(E) Words
Choose the correct answer from the options given below :
(1) (©), (D) and (E) Only
@) (A), (B) and (E) Only
(3) (A), (C) and (D) Only
(4) (A) and (B) Only

Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

McQ
87827040025
878270157225
878270157226
878270157227
878270157228
Answered

3




Comprehension:

Read the following passage and answer the questions that follow :

Animals communicate with one another in many interesting ways. These may consist of signs,
gestures, looks, sounds, smells or even light produced by the body. Song and dance are the other
means of communication.

When faced with danger, animals warn others using signals such as mock charges, grimaces or
sound. They also call their mates, inform other members of the group about the source of food,
advertise territory and “teach’ the young the ways of the world. Baby birds call their parents for
help and attention and demand food.

Far from being a silent world, the ocean is a noisy place. Fishes, molluscs, sea lions, walruses,
whales and dolphins chatter away in the waters using a variety of sounds-whistles, squeaks, clicks
and groans which range from low pitch to ultrasonic sounds beyond the range of human hearing,.
Whales and dolphins are sometimes called the “musicians of the sea’ as birds are of the sky.

SubQuestion No : 49

Q.49 Given below are two statements :
Statement I :  Sharks and crocodiles are called the musicians of the sea.
Statement I1:  Baby birds cannot express their needs.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

McQ
87827040028
878270157237
878270157238
878270157239
878270157240
Answered

2




Comprehension:

Read the following passage and answer the questions that follow :

Animals communicate with one another in many interesting ways. These may consist of signs,
gestures, looks, sounds, smells or even light produced by the body. Song and dance are the other
means of communication.

When faced with danger, animals warn others using signals such as mock charges, grimaces or
sound. They also call their mates, inform other members of the group about the source of food,
advertise territory and “teach’ the young the ways of the world. Baby birds call their parents for
help and attention and demand food.

Far from being a silent world, the ocean is a noisy place. Fishes, molluscs, sea lions, walruses,
whales and dolphins chatter away in the waters using a variety of sounds-whistles, squeaks, clicks
and groans which range from low pitch to ultrasonic sounds beyond the range of human hearing,.
Whales and dolphins are sometimes called the “musicians of the sea’ as birds are of the sky.

SubQuestion No : 50

Q.50
Animals use sounds to :
(A) Advertise teritory
(B) Wam of dangers
(C) Call their mates
(D) Invite their enemies
(E) Inform others about source of food
Choose the correct answer from the options given below :
(1) (B), (©) and (D) Only
(2) (A), (B) and (C) Only
(3)  (A), (B), (C) and (E) Only
4) (©), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status
Chosen Option :

MmcaQ
87827040024
878270157221
878270157222
878270157223
878270157224

: Answered

3
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